Data for: 12/03/2023 04:00:00 to 12/10/2023 03:59:59

	3 04:00:00 to 12/10/2023 0	3.33.33	
, QR Ordering			
Job Title	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$110.10	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
	Avgiaylate		
Aguilar, Juan Carlos			
Job Title	Pay Rate	Hours	Tot
OC - Kitchen	\$14.00	11.30	\$158.2
	Total	11.30	\$158.2
Sales: \$0.00	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$158.2
	Avg Payrate		\$14.0
Demograph William	× 1		•
Banegas, Willian			
Job Title	Pay Rate	Hours	Tot
OC - Kitchen	\$12.50	15.66	\$195.7
	Total	15.66	\$195.7
Sales: \$0.00	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$195.7
	Avg Payrate		\$12.5
Bollo Fortanato	-		
Bello, Fortanato			-
Job Title	Pay Rate	Hours	Tot
OC - Kitchen	\$0.00	32.19	\$0.0
	Total	32.19	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Bollo Fortanato			
Bello, Fortanato			
Job Title	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Carcamo, Samantha			
Job Title	Pay Rate	Hours	Tot
OC - Server	\$2.13	10.91	\$23.2
00-561761	Total	10.91	\$23.2
Sales: \$1,201.93	Claimed Tips	10.51	\$0.0
Credit Tips: \$167.12	Gratuity		\$0.0
	Grand Total		\$190.3
	Avg Payrate		\$17.4
Carraco, Geoconda			
	Pav Rate	Hours	Tot
Job Title	Pay Rate \$9.50	Hours 15.99	
	\$9.50	15.99	\$151.9
lob Title OC - Busser	\$9.50 Total		\$151.9 \$151.9
Job Title OC - Busser Sales: \$0.00	\$9.50 Total Claimed Tips	15.99	Tot \$151.9 \$151.9 \$0.0
Job Title OC - Busser	\$9.50 Total Claimed Tips Gratuity	15.99	\$151.9 \$151.9 \$0.0 \$0.0
Job Title OC - Busser Sales: \$0.00	\$9.50 Total Claimed Tips Gratuity Grand Total	15.99	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9
OC - Busser Sales: \$0.00 Credit Tips: \$0.00	\$9.50 Total Claimed Tips Gratuity	15.99	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9
OC - Busser Sales: \$0.00 Credit Tips: \$0.00	\$9.50 Total Claimed Tips Gratuity Grand Total	15.99	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	15.99	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.9
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby	\$9.50 Total Claimed Tips Gratuity Grand Total	15.99 15.99	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.9 Tot
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby lob Title	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.5 Tot \$17.2
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total	15.99 15.99 Hours	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.5 Tot \$17.2 \$17.2
Job Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$151.9 \$9.5 Tot \$17.2 \$17.2 \$17.2 \$0.0
Job Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$151.9 \$9.9 Tot \$17.2 \$17.2 \$17.2 \$0.0 \$64.6
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby lob Title OC - Server Sales: \$976.76	\$9.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$151.9 \$9.5 Tot \$17.2 \$17.2 \$17.2 \$0.0 \$64.6 \$182.2
Job Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$151.9 \$9.5 Tot \$17.2 \$17.2 \$17.2 \$0.0 \$64.6 \$182.2
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27	\$9.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total	15.99 15.99 Hours 8.10	\$151.9 \$151.9 \$0.0 \$151.9 \$9.5 Tot \$17.2 \$17.2 \$17.2 \$0.0 \$64.6 \$182.2
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27 Castro, Fortanado	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	15.99 15.99 Hours 8.10	\$151.5 \$151.5 \$0.0 \$0.0 \$151.5 \$17.2 \$17.2 \$0.0 \$4.6 \$182.2 \$22.4
lob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27 Castro, Fortanado	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	15.99 15.99 Hours 8.10 8.10 Hours	\$151.5 \$151.5 \$0.0 \$0.0 \$151.5 \$9.5 Tot \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$17.2 \$15.5 \$17.2 \$15.5 \$17.2 \$17.2 \$17.2 \$15.5 \$17.2 \$17.2 \$17.2 \$17.2 \$15.5\$ \$15.5\$1
Job Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27 Castro, Fortanado Job Title	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total	15.99 15.99 Hours 8.10 8.10	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.9 Tot \$17.2 \$17.2 \$0.0 \$64.6 \$182.2 \$22.4 Tot \$0.0
Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27 Castro, Fortanado Job Title Sales: \$0.00	\$9.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips	15.99 15.99 Hours 8.10 8.10 Hours	\$151.5 \$151.5 \$0.0 \$0.0 \$151.5 \$151.5 \$17.2 \$17.
Job Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Carter, Shelby Job Title OC - Server Sales: \$976.76 Credit Tips: \$100.27 Castro, Fortanado Job Title	\$9.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total	15.99 15.99 Hours 8.10 8.10 Hours	\$151.9 \$151.9 \$0.0 \$0.0 \$151.9 \$9.9 Tot \$17.2 \$17.2 \$0.0 \$64.6 \$182.2 \$22.4 Tot \$0.0

Catering, Catering			
lob Title	Pay Rate	Hours	To
	Total	0.00	\$0.
Sales: \$16,522.20	Claimed Tips		\$ 0 .
Credit Tips: \$810.00	Gratuity		\$0.
	Grand Total		\$810.
	Avg Payrate		\$0.
Catering, Catering			
ob Title	Pay Rate	Hours	To
ob mile	Total	0.00	\$0.
Sales: \$0.00	Claimed Tips	0.00	\$0.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$0.
	Avg Payrate		\$0.
Chavez Morlin			
Chavez, Merlin ob Title	Day Data	LI euro	т
OC - Busser	Pay Rate \$8.50	Hours 5.24	To \$44.
		5.24 13.70	
Salad	\$9.00 Total	13.70 18.94	\$123.
Salas: \$0.00		10.94	\$167. \$0
Sales: \$0.00 Credit Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
cieut rips. 30.00	Grand Total		\$167.
	Avg Payrate		\$167.
	Avgrayiate		30.
Dalstra, Skyler			
ob Title	Pay Rate	Hours	Тс
OC - Server	\$2.13	34.66	\$73
Catering	\$10.00	5.34	\$53
OC - Server - OT	\$3.20	2.75	\$8
	Total	42.75	\$136
Sales: \$2,179.60	Claimed Tips		\$0.
Credit Tips: \$306.73	Gratuity		\$51
	Grand Total		\$493.
	Avg Payrate		\$11.
Default 2, Manager			
ob Title	Pay Rate	Hours	То
	Total	0.00	\$0.
Sales: \$0.00	Claimed Tips		\$0.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$0.
	Avg Payrate		\$0.
spinal, Luis			
ob Title	Pay Rate	Hours	Тс
OC - Kitchen	\$12.50	37.45	\$468
	Total	37.45	\$468
Sales: \$0.00	Claimed Tips		\$0
Credit Tips: \$0.00	Gratuity		
	Consul Tatal		
	Grand Total		\$468
	Avg Payrate		\$468
ritts. Cavden			\$468
	Avg Payrate	Hours	\$468 \$12
		Hours 8.86	\$468 \$12 To
bb Title	Avg Payrate Pay Rate		\$468 \$12 To \$18
ob Title	Avg Payrate Pay Rate \$2.13	8.86	\$468 \$12 Tc \$18 \$18
ob Title OC - Server	Avg Payrate Pay Rate \$2.13 Total	8.86	\$468 \$12 Tc \$18 \$18 \$18 \$0
ob Title OC - Server Sales: \$506.13	Avg Payrate Pay Rate \$2.13 Total Claimed Tips	8.86	\$468 \$12 Tc \$18 \$18 \$18 \$0 \$28
ob Title OC - Server Sales: \$506.13	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity	8.86	\$468 \$12 Tc \$18 \$18 \$18 \$0 \$28 \$104
OC - Server Sales: \$506.13 Credit Tips: \$57.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total	8.86	\$468 \$12 Tc \$18 \$18 \$18 \$0 \$28 \$104
OC - Server Sales: \$506.13 Credit Tips: \$57.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	8.86 8.86	\$468 \$12 Tc \$18 \$18 \$18 \$0 \$28 \$104 \$11
OC - Server Sales: \$506.13 Credit Tips: \$57.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	8.86 8.86 Hours	\$468 \$12 To \$18 \$18 \$18 \$0 \$28 \$104 \$11 To
OC - Server Sales: \$506.13 Credit Tips: \$57.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00	8.86 8.86 Hours 16.41	\$468 \$12 Tc \$18 \$18 \$18 \$10 \$28 \$104 \$11 Tc \$147
OC - Server Sales: \$506.13 Credit Tips: \$57.00 Somez Mendez, Leonardo ob Title OC - Busser	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total	8.86 8.86 Hours	\$468 \$12 Tc \$18 \$18 \$10 \$28 \$104 \$11 Tc \$147 \$147
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Somez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips	8.86 8.86 Hours 16.41	\$468 \$12 Tc \$18 \$18 \$10 \$28 \$104 \$111 Tc \$147 \$147 \$147
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Somez Mendez, Leonardo ob Title OC - Busser	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Gratuity	8.86 8.86 Hours 16.41	\$468 \$12 Tc \$18 \$10 \$28 \$104 \$111 Tc \$147 \$147 \$428 \$0
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Somez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Grand Total	8.86 8.86 Hours 16.41	\$468 \$12 To \$18 \$18 \$0 \$28 \$104 \$11 \$147 \$147 \$147 \$6,575
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Somez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Gratuity	8.86 8.86 Hours 16.41	\$468 \$12 To \$18 \$18 \$0 \$28 \$104 \$11 \$147 \$147 \$147 \$6,575
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grant Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips GrantUty Grand Total Avg Payrate	8.86 8.86 Hours 16.41 16.41	\$468 \$12 Tc \$18 \$18 \$104 \$104 \$104 \$104 \$107 \$147 \$147 \$147 \$6,428 \$0 \$6,575 \$400
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Grantuity Grand Total Avg Payrate	8.86 8.86 Hours 16.41 16.41 Hours	\$468 \$12 To \$18 \$10 \$104 \$117 \$147 \$147 \$6,428 \$0 \$6,575 \$400
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title OC - Server	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13	8.86 8.86 Hours 16.41 16.41 16.41	\$468 \$12 Tcc \$18 \$18 \$104 \$1147 \$147 \$6,575 \$400 Tcc \$111
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$7.50	8.86 8.86 Hours 16.41 16.41 Hours 5.59 5.41	\$468 \$12 Tcc \$18 \$18 \$104 \$104 \$104 \$104 \$107 \$6,575 \$4000 Tcc \$111 \$40
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title OC - Server To Go	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Grantuity Grand Total Avg Payrate Pay Rate \$2.13 \$7.50 Total	8.86 8.86 Hours 16.41 16.41 16.41	\$468 \$12 Tc \$18 \$10 \$104 \$11 \$147 \$147 \$6,428 \$0 \$6,575 \$400 Tc \$111 \$400 \$52
ob Title OC - Server Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title OC - Server To Go Sales: \$656.61	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$7.50 Total Claimed Tips	8.86 8.86 Hours 16.41 16.41 Hours 5.59 5.41	\$468 \$12 Tc \$18 \$18 \$104 \$1147 \$147 \$6,575 \$400 Tc \$111 \$400 \$52 \$0
Sales: \$506.13 Credit Tips: \$57.00 Gomez Mendez, Leonardo ob Title OC - Busser Sales: \$0.00 Credit Tips: \$0.00 Gutierrez, Jazmin ob Title OC - Server To Go	Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$9.00 Total Claimed Tips Grantuity Grand Total Avg Payrate Pay Rate \$2.13 \$7.50 Total	8.86 8.86 Hours 16.41 16.41 Hours 5.59 5.41	\$0. \$468. \$12. To \$18. \$00. \$28. \$104. \$110. \$147. \$147. \$147. \$147. \$4,428. \$00. \$6,575. \$400. To \$111. \$400. \$52. \$400. \$52. \$0. \$0. \$15.

	Avg Payrate		\$14.68
Hartford, Chase			
lob Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	17.29	\$36.82
	Total	17.29	\$36.82
Sales: \$1,547.81	Claimed Tips		\$8.00
Credit Tips: \$190.05	Gratuity		\$25.17
	Grand Total		\$260.04
	Avg Payrate		\$15.04
Hernandez Figueroa, Alfredo			
lob Title	Pay Rate	Hours	Tota
OC - Kitchen	\$13.50	40.00	\$540.00
OC - Kitchen - OT	\$20.25	0.49	\$10.00
	Total	40.49	\$550.00
Sales: \$0.00	Claimed Tips		\$8,814.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$9,364.00
	Avg Payrate		\$231.24
Home, Delivery			
lob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Managar Dafault			+0.00
Manager, Default			-
lob Title	Pay Rate	Hours	Tota
C-1 60.00	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Martinez, Alexander			
lob Title	Pay Rate	Hours	Tota
OC - Kitchen	\$13.00	36.75	\$477.80
	Total	36.75	\$477.80
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$477.80
	Avg Payrate		\$13.00
Martinez, Benjamin			
lob Title	Pay Rate	Hours	Tota
OC - Manager	\$0.00	23.85	\$0.00
Catering	\$1.00	0.00	\$0.00
Catering	Total	23.85	\$0.00
Sales: \$0.00	Claimed Tips	23.05	\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
Create rips. 50.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
	Avgrayiate		
Martinez, Clarissa			
lob Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	15.38	\$32.75
	Total	15.38	\$32.75
Sales: \$1,761.36	Claimed Tips		\$0.00
Credit Tips: \$312.22	Gratuity		\$0.00
	Grand Total		\$344.97
	Avg Payrate		\$22.43
Mejia, Erica			
lob Title	Pay Rate	Hours	Tota
OC - Kitchen	\$13.00	16.71	\$217.18
	Total	16.71	\$217.18
Sales: \$0.00	Claimed Tips		\$4,653.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$4,870.18
	Avg Payrate		\$291.52
	Avgrayiate		4231.JZ
Millender, Imani			
lob Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	6.02	\$12.83
	Total	6.02	\$12.83
Sales: \$401.43	Claimed Tips		\$0.00
Credit Tips: \$58.50	Gratuity		\$0.00
	Grand Total		\$71.33

	Avg Payrate		\$11.84
Nooneyham, Harlee			
ob Title OC - Server	Pay Rate	Hours	Tota
OC - Server	\$2.13 Total	12.19 12.19	\$25.97
Sales: \$1,357.44	Claimed Tips	12.19	\$25.97 \$0.86
Credit Tips: \$194.99	Gratuity		\$0.00
cieur 11p3. \$154.55	Grand Total		\$221.82
	Avg Payrate		\$18.19
NA, Future Orders			
ob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
NA, To-Go			
ob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Nunez, Jorge			
ob Title	Pay Rate	Hours	Tota
OC - Server	\$2.13	6.17	\$13.13
	Total	6.17	\$13.13
Sales: \$1,432.66	Claimed Tips		\$0.00
Credit Tips: \$259.41	Gratuity		\$0.00
	Grand Total		\$272.54
	Avg Payrate		\$44.20
Dwner, Demo			
ob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Perez, Deysi			
ob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Perez, Nely			
ob Title	Pay Rate	Hours	Tota
OC - Busser	\$8.50	16.72	\$142.10
	Total	16.72	\$142.10
Sales: \$0.00	Claimed Tips		\$4,599.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$4,741.10
	Avg Payrate		\$283.60
Phillips, Joshua			
ob Title	Pay Rate	Hours	Tota
OC - Busser	\$9.00	9.42	\$84.80
	Total	9.42	\$84.80
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$84.80
	Avg Payrate		\$9.00
POS, Qlaborate			
ob Title	Pay Rate	Hours	Tota
a 1 da aa	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Programmer, HPOSS			
	Dev. Dete	Hours	Tota
ob Title	Pay Rate Total	0.00	\$0.00

Sales: \$0.00	Claimed Tips		\$0.0
Credit Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
Durada, Danah	Avg Payrate		\$0.0
Quedo, Derek ob Title	Pay Pata	Hours	Tot
OC - Kitchen	Pay Rate \$12.50	10.78	\$134.
OC - Busser	\$12.50	5.17	\$154.
OC - Busser	Total	15.96	\$181.
Sales: \$0.00	Claimed Tips	13.50	\$181.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$181.
	Avg Payrate		\$11.
lamirez, Anna			
ob Title	Pay Rate	Hours	То
Salad	\$10.00	25.09	\$250.
	Total	25.09	\$250.
Sales: \$0.00	Claimed Tips		\$156.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$406.
	Avg Payrate		\$16.
lamirez, Jaime			
bb Title	Pay Rate	Hours	Та
OC - Busser	\$7.25	25.09	\$181.
	Total	25.09	\$181.
Sales: \$0.00	Claimed Tips		\$162.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$343.
	Avg Payrate		\$13.
lamirez, Juan			
ob Title	Pay Rate	Hours	То
	Total	0.00	\$0.
Sales: \$0.00	Claimed Tips		\$0.
Credit Tips: \$0.00	Gratuity		\$0.
•	Grand Total		\$0.
	Avg Payrate		\$0.
Roberts, Savannah			
ob Title	Pay Rate	Hours	То
OC - Server	\$2.13	6.98	\$14.
	Total	6.98	\$14.
Sales: \$1,301.94	Claimed Tips		\$0.
Credit Tips: \$131.29	Gratuity		\$87.
	Grand Total		\$233.
	Avg Payrate		\$33.
Rogers, Shelah			_
ob Title	Pay Rate	Hours	To
OC - Server	\$2.13	7.96	\$16.
OC - Manager	\$8.00	4.95	\$39.
To Go	\$13.50	7.91	\$106.
	Total	20.81	\$163.
Sales: \$1,403.51	Claimed Tips		\$0.
Credit Tips: \$248.09	Gratuity		\$25
	Grand Total		\$436
	Avg Payrate		\$20.
Rubit, Eric			
ob Title	Pay Rate	Hours	To
OC - Manager	\$0.00	19.36	\$0.
	Total	19.36	\$0.
Sales: \$0.00	Claimed Tips		\$0.
Credit Tips: \$0.00	Gratuity		\$0.
	Grand Total Avg Payrate		\$0. \$0.
and and Manage	Avg Fayrate		ŞU.
anders, Marcus	Dave Data	Harris	7-
ob Title	Pay Rate	Hours	C 10
OC - Server	\$2.13	15.00	\$31
C-1 61 700 CD	Total	15.00	\$31
Sales: \$1,739.63	Claimed Tips		\$0.
Credit Tips: \$240.41	Gratuity		\$18
	Grand Total		\$291
	A Da		
	Avg Payrate		\$19
aquic, Jose	Avg Payrate Pay Rate	Hours	\$19 To

	OC - Kitchen	\$13.00	22.60	\$293.8
		Total	22.60	\$293.8
	Sales: \$0.00	Claimed Tips		\$0.0
	Credit Tips: \$0.00	Gratuity		\$0.0
		Grand Total		\$293.8
		Avg Payrate		\$13.0
Saquic, I	Marvin			
Job Title		Pay Rate	Hours	Tota
	OC - Kitchen	\$13.00	22.58	\$293.5
		Total	22.58	\$293.5
	Sales: \$0.00	Claimed Tips		\$0.0
	Credit Tips: \$0.00	Gratuity		\$0.0
		Grand Total		\$293.5 \$13.0
		Avg Payrate		\$15.U
	Maynor			
Job Title		Pay Rate	Hours	Tot
	OC - Kitchen	\$14.00 Total	16.44	\$230.1
	Sales: \$0.00	Claimed Tips	16.44	\$230.1 \$0.0
	Credit Tips: \$0.00	Gratuity		\$0.0
		Grand Total		\$230.1
		Avg Payrate		\$14.0
Snann F	Pocky			
Spann, E Job Title	Decky	Day Pate	Hours	Tot
ob nue		Pay Rate Total	Hours 0.00	Tot \$0.0
	Sales: \$0.00	Claimed Tips	0.00	\$0.0
	Credit Tips: \$0.00	Gratuity		\$0.0
		Grand Total		\$0.0
		Avg Payrate		\$0.0
Spann, Q	odv.			
Job Title	louy	Pay Rate	Hours	Tot
		Total	0.00	\$0.0
	Sales: \$0.00	Claimed Tips		\$0.0
	Credit Tips: \$0.00	Gratuity		\$0.0
		Grand Total		\$0.0
		Avg Payrate		\$0.0
Spann. [Dwavne	Avg Payrate		\$0.0
	Dwayne		Hours	\$0.0 Tot
	Dwayne	Avg Payrate Pay Rate Total	Hours 0.00	Tot
	Sales: \$0.00	Pay Rate Total Claimed Tips		Tot \$0.0 \$0.0
Spann, [Job Title	•	Pay Rate Total Claimed Tips Gratuity		Tot \$0.0 \$0.0 \$0.0
	Sales: \$0.00	Pay Rate Total Claimed Tips Gratuity Grand Total		Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	Sales: \$0.00	Pay Rate Total Claimed Tips Gratuity		Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Job Title	Sales: \$0.00 Credit Tips: \$0.00	Pay Rate Total Claimed Tips Gratuity Grand Total		Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Job Title	Sales: \$0.00 Credit Tips: \$0.00	Pay Rate Total Claimed Tips Grand Total Grand Total Avg Payrate Pay Rate	0.00 Hours	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00	0.00 Hours 40.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 Tot \$0.0
Job Title	Sales: \$0.00 Credit Tips: \$0.00	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00	0.00 Hours 40.00 2.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 Tot \$0.0 \$0.0
Job Title	Sales: \$0.00 Credit Tips: \$0.00 DGO OC - Cashier OC - Cashier - OT	Pay Rate Total Claimed Tips Grand Total Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total	0.00 Hours 40.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23	Pay Rate Total Claimed Tips Granuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips	0.00 Hours 40.00 2.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title	Sales: \$0.00 Credit Tips: \$0.00 DGO OC - Cashier OC - Cashier - OT	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity	0.00 Hours 40.00 2.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total	0.00 Hours 40.00 2.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title	Sales: \$0.00 Credit Tips: \$0.00 DGo OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity	0.00 Hours 40.00 2.00	Tot \$0.0 \$0.0
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 DGo OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	0.00 Hours 40.00 2.00 42.00 Hours	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 DGo OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13	0.00 Hours 40.00 2.00 42.00 Hours 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 DGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total	0.00 Hours 40.00 2.00 42.00 Hours	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips	0.00 Hours 40.00 2.00 42.00 Hours 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 DGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total	0.00 Hours 40.00 2.00 42.00 Hours 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Job Title Vences,	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total	0.00 Hours 40.00 2.00 42.00 Hours 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate \$2.13 Total Claimed Tips Gratuity Grand Total	0.00 Hours 40.00 2.00 42.00 Hours 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 Hours 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total	0.00 Hours 40.00 2.00 42.00 42.00 Hours 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager Sales: \$243.70	Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager Sales: \$243.70	Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager Sales: \$243.70 Credit Tips: \$15.00	Pay Rate Total Claimed Tips Grantuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager Sales: \$243.70	Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 Hours 24.02 24.02 24.02	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Job Title ToGo, To Job Title Vences, Job Title	Sales: \$0.00 Credit Tips: \$0.00 OGO OC - Cashier OC - Cashier - OT Sales: \$5,391.23 Credit Tips: \$220.03 Sergio OC - Server Sales: \$1,555.84 Credit Tips: \$279.90 Sergio J OC - Manager Sales: \$243.70 Credit Tips: \$15.00	Pay Rate Total Claimed Tips Grantuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 40.00 2.00 42.00 42.00 12.30 12.30 12.30 12.30	Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.

	Total	20.71	\$115.89
Sales: \$1,805.10	Claimed Tips		\$0.00
Credit Tips: \$236.24	Gratuity		\$85.33
	Grand Total		\$437.46
	Avg Payrate		\$21.12
Yanez, Ada			
Job Title	Pay Rate	Hours	Total
OC - Kitchen	\$10.00	40.00	\$400.00
OC - Kitchen - OT	\$15.00	0.88	\$13.20
	Total	40.88	\$413.20
Sales: \$0.00	Claimed Tips		\$9,270.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$9,683.20
	Avg Payrate		\$236.87
Yanez, Yakelin			
Job Title	Pay Rate	Hours	Total
Salad	\$10.00	11.63	\$116.28
OC - Kitchen	\$12.50	17.55	\$219.37
OC - Busser	\$9.50	10.82	\$102.81
OC - Kitchen - OT	\$18.75	8.73	\$163.70
	Total	48.73	\$602.16
Sales: \$0.00	Claimed Tips		\$11,200.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$11,802.16
	Avg Payrate		\$242.19
Young, Pete			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Credit Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00